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1. Theaverage price of 80 mobile phones is Rs.30,000. If the highest and lowest price

mobile phones are sold out then the average price of remaining 78 mobile phones is Rs.

29,500. The cost of the highest mobile is Rs.80,000. The cost of lowest price mobile is? 20
80 HITIEE P11 SRt e % 30,000 & [afk A AR <FA 99 B AT B A9 ENE¢
Wﬁgammmmﬁwsﬁwwﬁ29,5ooﬁamé’lafﬁwamwﬁwﬁﬁ o
At AT BB 5 80,000 § | e qed R WA @Y q A v @) da g A0
g7 —_—
(A) Rs. 18000 (8).

. 15000
(C) Rs. 19000 =

(D) Can't be determined//f¥=d & Hx T&Hd

y the average income of all the employees is Rs. 20000 per month.
€ company announced increment of Rs. 2000 per month for all the employees.

The new average income of all the employees is?/ U6 Ul # W HHAIRAT DI, 3G 3T
afdt 78T % 20,000 & | 811 & # S0 7 % 2000 9 #ET Y gfy, wh wEERAT B o A
(A) Rs. 1,22000 (B) - Rs. 24000 (C) Rs.28000- (D) Rs.260000 "

3. Pranav went to the bank at the speed of 60 km/h while returning for his home he
covered the half of the distance at the speed of 10 km/h, but.suddenly-he realised that he
was getting late so he increased the speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average speed’ of the Pranav in the whole
length of journey is? g §a 60 ot /eieT @ Wi TR a7 o fbeg BR MEFWW#
A T 10 frd/HeT B IR R T B | SIS I o 6 98 A & @7 o A, 9, A

-----

s aord oY T 9 g 0 78 a0 Rl /e A R W 7@ AR gY W A L) W

2. In a Compan
Recently th

I F o @) oI T aar off? ~

(A) 24 kmih/24 fh. s = (B) 14 km/h/1a st sy ger
(C) 16 km/h/16 fa#iL. ufar eer (D) 10 km/h/10 foY. wfeT wer

4.  The average expenditure of Mr. Sharma for the ‘JanUary\'to_’Ju_he‘_-isRs:'42h0(-)‘érj<‘j 2’6
spent Rs. 1200 in January and Rs.1500:in July. The average expehdﬁqre for t‘ e months
o?Febr'uary to July is? IS @I A< Jq o TP BT Al mﬁ 4200 %aﬁ'\f a?:: % 1200
ST @il 1500 g H o e ¥ | PRA & AL T F HEM B S WA 7

(A) Rs.2750 (B) Rs.3250 .. (C) Rs.4250 (D) -Rs.4500-.."

' ten people present all shake -hands with
the end of a business conference: the !
Zach ofr\mter once. How many handshakes will there be altogether? Td AR A B 3d é(,
. G

3 sufera @ 10 AfR 7D iﬂ*\f@rwaﬂmﬁ?«nﬁ %‘lag?rﬁ‘ara’ﬂ N e ﬁﬂe{‘mm

(A) 20 (B) 45 (C) 55 (D) 90 | -
6 | The average presence of students of a class in a qulege on Monday, TueSda¥fiad q &
Wednesday is 32 and on the Wednesday, Thurgday, Friday and Szturda;y ;sdi?‘_t / th '({’o
average number of students on all the six days Is 26 then the number of stu

attended the class on Wednesday is? MR, ATerdR 3R gUaR I BE | faenfrai ot g .
M TrWw =% 156 2y
WA TYRYS= 120 = &

|

|
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A) 50 (B) 40 (C) 60 (D) 70

; suresh started his journey from P o — '
then, the same distance hc_e travelled on his foot :ty tr?éssgg(:da;ft? g ksng;al??roonfngtgrghTagﬂ
he returned from R to P via Q at the speed of 24 km/h. The average speed of the whole
trip is: 31‘"'4'2”5'”3“}[03?53”4_5”31325@40%.qﬁmﬁﬂﬁﬁwmﬁaﬁ?
fope T 8 98 9T 10 [P IR W iy 9 Q' W R a5 o e & | R 98 R A

P, Q@ T% 24 AL O €T B TR F qrqRy awen & 1 g w9 st iy &
(A) 185kmh (B) 19.8km/h (C) ' 18.2 km/h (D)  19.2 km/h

8. Ramesh walked 6 km to reach the station from his house, then he boarded a train
whose average speed was 60 km/h and thus he reached his destination. In this way he
took a total time of 3 hours. If the average speed of the entire journey was 32 km/h then
the average speed of walking is: Y 30 TR & WY T Uga @ forg 6 1. daad dear
2 fe g vo ¥ # 9¢ O & R shww i e0 R ufy wer 8, ol @ e S
R q Ugd T & | $9 UBR W 98 B fi 0 BT GHY A B | afy g A B
aitag iy 32 . ufy weT off 1 Uee = & ol TRy o .

(A) Bkmi  (B) 8kmh  (C) 2kmh " (D) 4kmh

" Bala travels first one-third of the total distance at the speed of 10 km/h and the next -
one-third distance at the speed of 20 km/h and the last one — third distance at the speed
of 60 km/h. What is the average speed of Bala? ‘e Ir=1 @1 %l g1 @1 T® 10
R wfy Her & TR & 3R 3FTell Ue e ¥ 20 fpedt. ufdy wer 9 afd I &R enfadt e
fyers 60 A Oy weT A AR T B € qrenT @) ST fy wre? . . Lo,

(A) 18kmh  (B) 19kmh .- (C) - 16km/h . (D) -

9.

10.  The distance of the School-and house of Suresh is 80 km. One day he was late by
1 hour than the normal time to leave for the college; so he increased his speed by 4km/h .
and thus he reached to college at the normal time. What is the changed speed -of Suresh? -
R B Remert 3k o) @ 9 B g 0. FpA. 2| T R 98 fEen oM fog wRvie
a#wmmﬁwﬁaaemﬁw#aﬁmﬁAﬁmﬂ.q%daa%ﬁ%aaéaﬁ?sﬂ |
e I8 fAenerd AU \H GRG0 Ul AT | GRS @) 9&ell g i F® Al -

(A) 28kmh  (B) 25kmh  (C) 20kmh (D) 24kmh

1(1)-9 ft‘\gga goes to College at 20 km/h and reaches college v4.minute's‘ late. Next time she\ .

i% ths at km/h and reaches the college 2 minutes earlier than the scheduled time. What .-

s e disance of her school? it it 20 o, oY e 1 T % T 4 e T
IR T8 25 ). URY Ter @ TR W SR T W 2 -

(A) 16 km . (B) 12 km : (C) 15 km (D) 10 km
xX X g \ \ )

ES’ o — 77 = o ﬂ'; Yo

R 6o \ O 100 7 Wy

102¢ =

3
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r rt from each oth i
and S are 800 km apa other. Two persons start from:
;2. Two places R | of 2 hours. Whereas A leaves R for S before B. The speedfr:i'z?

interva .
towards S ait an /h respectively. B overtakes A at M, which i ,
/h and 60 km at M, which is on the w
ant%%ax:a(i ::r;he ratio of time taken by aAﬂ'\?n‘\ijng to meet at M? <) v Ralk S Qa%ft |
R s & L8 T R S o o 2 v ¥ . o 1
¢ ugal R @ forC | A 5 @ TR T 40 3R 60 R gRy-Hey
RYSTHIM WY | M fier & for Aait

o
Ya

:
3
=
3
P

M T ,
1 g a0 ;
w19 ® 12 ©) 14 (D) 32 r,

~ Two places R and S are 800 km apart from each other. Two persons start from’R
(owards S at an interval of 2 hours. Whereas A leaves R for S bef-OrepB_ The someds of{h‘
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way frbig
R to S. What is the distance from R, where B overtakes A? 31 3. R iR S T gaj
aop Al 3¢ & | & AR R W S Y Gl A e P ofoerer # 9w 7 # | wafy AR
fro S B @ forv Fper W Usel el §1 A @R B €1 @1 TRy @wer 40 @R 60 2
/et £1B, MWA@MWW%ﬁ%RﬁS?#WW%AlwWB,Aﬁﬁ
e o &, @8 R W fha i Q@ w w7 ) | ;

c ‘- (Fyb
(A)260km . (B)235km (C) 240km (D) 300km, 54

A .‘;‘.,ﬂ

34

14.  Ajay covers certain distance with his own speed but when he reduces his speed;

10km/h, his time duration for the journey increases by 40 hours while if, he increases i
speed by 5 km/h from his original speed; he takes 10 hours.less than the original tlr’;)e
taken. Find the distance covered by him. 313 T ff¥ad & o TRy | T Pl ¥R
o dE A AR A 10 R /HeT B B W & A A AT 1w 40 Rl g it
(A) 1000 km f&Ht (B) 1200 km &5 (C) 1500 km f#t (D) 1800 km Tt ‘4

15, The driver of an ambulance sees a bus 40'm ahead of him, after 20 seconds, the'bils
is,60 meter behind, If the speed of the ambulance is 30 km/h (e /=), what is the speed
o the bus? T T 1 A ST G o <8 T A 40 Aex o7 el & 20 HS @ 4
5 9D 60 Aex A5 A &1 Afd vger < ARy 30 AT/ HeT & A AW @ KRN

. 7

(A) 10kmh 7 (®) 12kmh - (C) 15kmh (D) 22 kmh e

- N (1 DY

16.  Two rabbits start running towards, each other, one from A to B and ,anqthe{ from B

to A. They cross each other after one hour and the first rabbit reaches B, 5/6 hatir befofe

.the second rabbit reaches A. If the distance between A and B is 50 km, what is the spe#d
“of the slower rabbit? <t TR TH T&R B AR AR ATB il 3 AR @Taﬁ
AT S| 78 A 7 g Y T G v O TR € R gme wwi B g B A N
qgaﬁ%s/eaaqgaqgam%luﬁAeﬁ?B%eﬁﬂaﬁiﬁwmﬁﬁ‘fﬁﬂ*qﬁﬁﬂa

T B Y @ o 4

(A) 20kmh  (®) 10km/h (C) 15kmh (D) 25km/h !t* \

¥
. L
f, r(-.!.:.,

o
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:‘{“’: ‘pranav walked at 5 km/h fo .

,.;.remaining part of the journey ;rc;‘fgﬁlln part of the journey and

W, ney' What part Of journey did he ng at 25 km/h‘ 'f he n then he t00k an aUtO for

our 7 kmih? SO AT B travelled by auto if took 10 hours for the entire

I‘.’:-‘.'Irnexﬁzea’s’ oy AT B T 25 fg;: Fiferer T % Img? average speed of the entire

g oa”és‘m%aﬁumm'g%daﬁ“ﬁ”*@;g%ﬁmﬂmm
' P 1 68 10 3 e o a4 7

100 km y
(C) 150km . (D) 200km

18 5, 12, 7,41, 87, 214

w19 (B3 x £, o

g 14, ?,13,17.5,21.75 3 YRR S o AY ”5_:1%(

@ 19 e o R 12 - R o (©)F, 185 ¢ (D) 13.25 |55

gl ' ke e R U & R » 10

m of first 30 natural numbers e 30 Wﬂ@mﬁ 7 AT A o
L  Shes )82

Find the su
Ly g e AT 0

(yraro .
i3 56% of Y < 152, What s Y? Y 1563162 2
(A) 350 . )
““Wihich of the fallowin s is greater 17:18and 1

§ 9 @ a9 ¥ Y™
Y 5 RRTIAY:

SARIC NIV TH VA

GG T A R A P Lot
ARG 25, (D) 330 3077

0:117 At Jr 17418 I

23 g tvo ratio

10:11 |
' (@) 10/11" P o o
(D), .Cannot determine. Fofirer e T

() 17/18 N
(O).-»Both are same. < 5% X i
24 "I a'palace, fsiippi.'fééfa_‘_r'é‘éyailatélé’"fiéﬁ’é_@"d'ay'_s for only 75°peo

nthe palace, for vacation on dayijl_.i_fsélf.i’For how many days will these supplies be
gufﬂo:ent for all these people? T& I oy Pdel 75 : g 35 faAl P agfel SueTe
g | 9% o W gfeed] & fro yEe Rt & 15 T 3T o & | e oAl @ e, W aafdt
(), 90 days T3L.(B).. 11.25 days ey 4 days D)
ifone”f d,igerence' betWéen Compound Interest & simple Interest on a certain sum: of
%ﬁ{,érsryyrgw,@;g,%l p.a. is Rs.122. Find the um? afe @ ad @ fer TP
A e Tepgfe R HERT I & dr @7 IR B, 122 3, 4 el H T

ple15 Guests arrive

" 92,5 days &
D) Rs. 17000

(Q? Rs.14000 (B) Rs. 15000 (C) :
eTUN 6\

’_:jf{i g =SSt ¢ o =

00O
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' i held fro
vouth gummit was rom 14th — 19th August 2017 ;
T DR A Ry wray o M7,

A ASEAN Ot 2
Indi8 7 AR . -
20.1;?1%?5?' (B) Mumbal ’j"’@ (C) Bhopalﬂﬁtna (D) Chennaiﬁ:,g
: ikrama’, Which wij| .
(A ot ‘Navika Sagar Parl N Will commence in Sept
or POIECL. - of the Indian Navy would circumnayj Ptember 9y,
Unde men officers 2017 ¥ 3IH, TS wpr 'gate the globe on an 'ndia;i

d: .
m'l,boatq%agz?fﬁ?ﬂa%m IR T4 e Rl oo & @ "
@) INsv Sindhu R (C) INSV Amba siar () INSV Tarini e

g. 2017, which Asian country launched its first cyber court specialiy;

1 al

28. dlin mtemet—related cases? 18 3, 2917 Pl fry ORRTE S 3 3 pe IZlng
in han 'gﬁmmmw‘\fc e ARY Ry 27 RCYIC HaH e

o pansrm @ 0T South Korea <l wiftar  (0)Thailand omécte
017. Power Grid Corporation ah el th i A

on August 18, 2017, TOV 19 LETDOration announced that it will get a loan of
0 million hich international financial institution for its various projects? 18 a

§500 million from W et T R TR ) e projects? 18 3T,

Sot7 1 TR 7S AT g ; WA ¥ v fafy aRaT @ R s

(A) Asian Development Bank (ff%réﬂ SITHE %_]'q; VBt e 7'
(C) Intemational Monetary Fund aﬁﬁ@ﬂ el ‘T’@ (D) New Development Bank STATHE 4

30. Who among the following k‘cricketer. has’continue.d to be the world’s top-ranked One-
day batsman in the latest ICC ODI rankings, released in Dubai on August 18, 20177 18

%, 2017 B g9 W T oS ¥ A v R st b F B A W A\
(A) ViratKohli  fiRre Breen |  (B) .Dayid Wé[’r_)e:r: 3 TR
(C) ABDeVilierst & f Rt (D) JoeRoot™ ' W W

31.  Who among the following has won a-silver medal in the javelin throw at 't.he'ﬁrst World
Para Athletics Junior Championships in Nottwil, Switzerland? , Raeorers F g§ gl
o R QR R SRR 1 R 3 3 e o e 1 ST ¥ T 0 <A
(A)  Prince Ahuja fife amge - | (B) Jatinder Singh Wiftiex 8-
(C)  Prakash Jaishankar yeTer SrreicR (D)  RinkuHooda R g&sT
‘Requisitior - o i 2017, a bill
3?6 i Requisitioning & Acquisition of Immovable Property (Angt‘i’gegafj',';fpogfab@ at
providing for amendment to the regulations governing Cngj:ernment was introduced in

the time of acquisit ; ntra
ion of immovable property by the c€ 5 rigifal act that came
the Lok Sabha op July 18, 2017, ThFi)s t?ill is an amendment‘ to the'origin ferre 2017

into force ini?ﬂﬂ%wﬁ ool CIREE P & I B
th%%%ﬁ'zowaﬁﬁmﬁmﬁg%mwf
WWWW%meﬁng

(A) 1959 1949

‘‘‘‘‘‘‘
L \ !
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33. A bill providing for set;
! ttin
was introd i~ P
[
— uced in the tf the Indian |ny;
? MR Ty ok Sabhg o Mute of p
?hmm‘ AR ‘ on July 1g 28t1ro\eum and Energy in
- T — 3 e 7. Wﬁ\, %‘;a, 2017 @

(A) punjab TS

(C)Telangana AT (B) Haryang

(D) Andhra Pradesh sy LAl

34.
& PHROT, Tt netion i
e . & figa en k)l Fm??f SPECIes due to man's intervention i
(A) Kiwi Pl N e

() Przewalski's horse Saeras sirgy (B)  Dodo ey

(D)  Bustard gzt

35.  Which of following utilises sunj
nlight in a direct fashi
ashmmmaigmﬁd%mﬁ

A ot R H B A A &7

(A) ~Photo voltaic cell ‘;rcﬁm AT A
(C)’“. Bio gas production FN (B)  Solar thermal cells VR &S F
> P Co SeTEH (D) BothA&B<THI A&B

36. In ‘Internet’ term WWWW, the th _ |
5 4™ W stands for gec giemaen & WWWW, 5 AW R

| il
(A) Web | (B)  Worm (C) ‘Wreck D) Wsik
37, IPv6 addresses have asize of:  IPv6 AT T EEA &

(A) 64 bits (B) ~ 128bits  (C) 256 bits (D) 512 bits
38. The ans_titution of India recognises: TR AT A AT S |

(A)  Only religious minorities @det STRiE SRR P

(8)  Only linguistic minorities et AIE FEEIH] B

() .- Religious-and Linguistic minorities &Tfi@ iR A ATEEIDT B

(D) - Religious, Linguistic & Ethnic minorities a1, wife 3R S TS B

9. Dufing which of the following Mughal Emperor
by Emperor's Administration was the highest? f&d
SO T Sy fEgalt @ Ao e T o7

's rule, number of Hindus employs
UGN EIC IR USR] LENIRES

(A) - Humayun 91§ B) Akbar IO
(C) . Shahjahan ¥TgsTst (D)  Aurangzeb e
| ced by Akbar was borrowed from the sys

40. ‘-:‘-_-.'ll'he Ménsabdari system introdu
followed in/3@sR gRT Tw yﬁ T RS CEARl gorr” ol g oA :
(B) Turkey T

(A)  Afghanistan s
(C)  Mongolia s (D) Persia TR0
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41.  Who among the following is said to have witnessed the reigns?of eight Delhi

SUItanwﬁ‘?ﬁﬁﬁﬂﬁﬁﬁﬁ%mwﬁﬁaﬁwmmﬁmm
(A) Ziauddin Barani fSramsgd™ &= - (B) Shams-i-Siraj Afif Jg—3— IR 37‘??"5
(_C) Minhaj-us-Siraj fAr—as—{RRe (D) Amir Khusrau

42.  The President of India referred the Ayodhya issue 10 the Supreme Court under
@1 fobe @

which Article?
mw?lce WA @ ISR 3 srawer s

(A) 143 (B) 132 (C) 138 (D) 136

43.  Right to privacy as a Fundamental Right is implied in T Tt T o

IRBR & w9 ¥ aref < B

(A)  Right to Freedom Tam &l fEIER X '

(B)  Right to Life & Personal Liberty offa i ol TaiiTar 1 S
(C) Right to Equality ST &1 3B et AT T
(D) Right against Exploitation itgor @ RAeg AR '

The interval between two sessions of parliament must not exceed

'G'ﬂﬂ BT RIS A AEY B A;EY
(A) 3 months@E (B) 6 months e~ (C) 4 months #TE (D)

45.  With reference to |nflat|on in India, \M’ngh of the following. statements lS correct'?
ﬂﬂﬁﬁg‘q—m‘v’rﬁra‘s ﬁmﬁfﬁaﬁmﬁﬁﬁaﬁﬂwewfﬂﬁﬁ?

(A) Controlling the inflation’in" India is the responS|b|||ty of thteJ &vernment of Ind|a only

Wﬁgmmﬁmw%@mamﬁwe I
(B) The Reserve Bank of India has no role i controlling the mflatlon ﬁfrrci ﬁi‘cb‘ 31Tfﬁ

gemaﬁgmmﬁwﬁueamﬁaﬁéwaee

(C) Decreased money C|rculat|on helps in controlling t

aﬁﬁaﬁﬁm%‘ -

Increased money circulation’ helps ‘in controlling the inflation g gaT WUT,
1 Frf eear 8

46.  Which of the following brings out the 'Consumer Price Index Number for Industrial
workers?ﬁﬂﬁeaﬁa SeNfrE A @ Y SUHIET Jed GABId oIl § ?

(A) The Reserve Bank of India Rord @ offs e

(8)  The Department of Economic Affairs amfeid ATl @1 fawmT

(C) The Labour Bureau G zqg‘r

(D)  The Department of Personnel and Training @& Td Reror favm

s & A

100 days f&

he mflatlon EIT—IEIT gaT ‘ﬂ’ﬂ’\mT

(D)

47. ‘Golden Revolution’ is related to waf FIftr e S A R
(A) Precious minerals g0 @Y s - (B):f Pulses =Tt | A ‘
C Jute -GE ) ,L.' ‘- :
(© (D)  Horticulture srTaTHY i
8 )i
2l
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(B) It has to borrow to make intere
e gPM B Y SuR AT St payments on Outstanding loans a8 d@mrT FoT &I

(C) It has been refused loans or aj .
@ forg A1 fBar S et @ 81d by creditors abroad fah srrart g o1 AR

p) The World Bank char i
(D) 9€s a very high rate of interest on outstanding & new loans

foed 0 T 3R TP e R 5 9o 2 0 amer e b

49.  With respect to GST, consider following statements GST & <y 3 i Fo ™ RER &%

Reduces cascading effect @mis wirg oy o7 @ € |

Is a comprehensive indirect tax a8 v ayeger ag® w1 L |
Aimed at forging a common domestic market 3 Eﬁ\’q qWR B R B BT A& T
Alcohol and petroleum are exempted from GST #féxT sk dgier FT GSTH G WK &

(A 1,2, 3 correct wre - (B) 2,3 correct W&l B
(C) 2,3, 4 correct GRS (D) All the above are correct LRI

RSN

50. India’s current account deficit in Balance .of Trade is mainly due to YRA ® IR
(3).Increasing imports of oil.and petroleum. de 3R YSIeraH & AT, % gf&
(6) Increasing imports of gold and silver & R =i @ ama A gfE
(c) Increasing imposts of food grains e AT @ I ¥ i '
(d) Increasing imports of iron and steel w1§ X F¥I@ @ amad | gfE

. A DR DR
v ‘

N @ bande (B) (a)and(c) o e
(©) ... (@) and (b) o e D) sfadand @) s fe et o

M

51 .. Find the minimum number of straight lines required to make the given figure."

N LI

. SR R 77 Yy @) g @ o A oo W e Y saear g
16 ® 17 . (C) 18 ©) 19
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jlowing figures best depicts the relationship among criminals,

fo

¢ tmev;?i z)ﬁ av’\’fﬂ i
ferd

OOOQOOQD

(a) (d)
" @ ®) b. © .c . O .d

b

53 Find the number of tri'a‘ngles in the given flgure

mﬁqmmﬁaﬁﬁﬁ“ﬁﬁﬂww?
(A) 18 ® 20 A(C) | (D) "27

‘l' v,,.’\,.'.,‘_‘
54. Of the fo\lowmg two statements both of whnch cannot be true but both can also be

talse. Which are these two statements? o= a1 Tl # '\ﬁt ‘Gﬁ G‘Fﬁ FUF Tl ﬁé’T B TH
%mmmwm% | T& S FA B E?

| All machines make noise W e R EﬁTr‘ﬂ % ; '-
Il. Some machines are noisy-. .- 5% 7 IR Bl E s 0 ;J', '.

IIl. No machine makes noise . - i A e R ?b‘\"c't’f R

IV. Some machines are not noisy B H‘%‘ﬁe{ Qﬁ'\’ e ?F\'?'ﬁ g J—

(A) | &Il (B) & |V (C) | &M .. (D) || & IV T AR

55.  Insert arithmetical sngns in the equatlon for it to be correct 8 4 2= 16 |
8 4 2 = 16 THGR BT Tel DR a%t%mﬁmﬁr%mwrﬁﬁaﬁ@ﬁaﬁﬂmm?
(A +x (B) -t C) - @) . HAFxoa

L F W AR =

56, IfafX 84x13=8, 37x13=6, 26x11=6, then T 56x22=7

S ® 5 © 1. O e UG

10
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571. l: + means divide, x means —, +

: ue30 49+3—.-4-8x2 T + 1 aref R m:ans multiply and — means plus, then find the

9+3+4-8x2 : Waﬁ-ﬁﬁmﬁgwn:«ﬁv—mm&ﬁfﬂﬁ

mss. H@Tﬁnd g"req%e xt term of the sequence 1, 8, 4, 27 - g aret
m? ‘L’ 1’5’ 11—' 33 '3’1—’ 45 ¥ P Ll A o

p) 8 |

(A) (B) 9 € 64 (D) 16

59. David divides 78 by half and
a R
o § W BR@ 11 ST B, o 3 A ag;?sag- What “Um?ber he gets at the end? :gﬁrs 78 BT
83 V2

(A) 50 (B) 447% (C) 167 (D)
In a knockout football competition 23 teams participated. What was the least
nner? T “ife—3meT BN

60.
es they needed to play to decide the wi
o O & g B W @A fad AT

number of match
gﬁﬁhﬂﬁzsaﬂ’fﬁmm | 59 St B faoraT @

e TS 7
(D) 62

(A) 11 (B) 21 (C) 22
the smaller angle between the-hour & minu

61. Athalf past 5 in the evening, te hands of
G| H@a‘?ﬁéaﬁ?ﬁﬂz%ﬁe’ra‘?éﬁwﬁawm%

a clock is @ BT 5.30 9. ‘
@A) 10° B) 12° C) 18° D) 18°
62 Fill in the blanks Ra @ iR : BA_BA BAC_ACB_CBAC
(A) AACB (8) . BBCA (C) CCBA - (D) CBAC
63. Angles of a given triangle are in the tatio of 2:3:4. What kind of triangle is the given
triangle? &g T BT H ot 1 argaTr 2:3:4 8| I T fBrpro e gHR. BT 27
(A) Right-angled L IR O ) Obtuse angle  3if&® P07
(C) Isosceles FAfEETg BT - (D) Acute angle LT Gabi

-south, A’s being on

64. The houses of A and B face each other on a road going north
the western side. A comes out of his house, turns left, travels 5 km, turns right, travels 5
km to the front of D's house. B does exactly the same and reaches the front of C'’s house.

ct? A @R B @ TR JTR—

In this context, which one of the following statements is corre
& gras e Rer & R A @1 R

=y %) @ik I T T WP W T TR
aﬂ?%|Amﬁrm@mm%‘,w$m%,5ﬁ7ﬁr.aﬁwm%,a’it{§$ﬂ%3ﬂ?D$
W%Wﬁﬁﬁ@'ﬁf.ﬁﬂﬂﬁﬂ%lBWW@W?@?CZEWEEWU@
m%wvwﬁﬁﬁﬂﬁ%aﬁﬂwaamqaa?

(A) Cand D live on the same street. C 3R D 7 '

Eg)) C’'s housefacessouth.CWER'-q-faqwﬂ—rg’rEgzﬁgbrmmq-\’_‘rgépér

Houses of C & D are less than 20 km

) Noneoftheabovewﬂﬂﬁﬁ%aﬁéi{?mcmDa%mzowgmﬁmg

| . .
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65.
(A)
66.
(A)
67.
(A)
68.

as 90847, find the code for CARE aft TOUR 7 1234 fopar Srdl

24

GET IT ON
Google Play

351 i
BEH, DGJ, (?), EJO, GLQ, INS, ? ”4
FLR (B) FIS (C) FKO D) lFIL 3 .T ,;
H, V, G, T) Fv R’ E1 P, ? A ' ::Ej
43:10::8:7 . : . | 2;;
10 (B) 13 C) 17 (D) 14

nd SPARE is wntteu

If TOUR is written as 1234, CLEAR is written as 5678% 8 CLEAR @1 56784 feran

D)

ST & 3R SPARE &I 90847 forar oam & @ CAREa;raﬁsqmﬁ? | X
(A) 1247 (B) 4847 (C) . 5247 - (D) 5847 |
69. CALANDER is coded in a code as CLANAEDR. Find the code fomr CI‘R%CL{LAB
under the same rule. Afdfie wmr § CALANDER ET CLANAEDR %@T NN gﬁj
FrergeR CIRCULAR @ forar wmgm: T
(A) LACANDER (B) CRIUCALR
(C) CLANADER (D)  None of these Suda # & g et
70.  (a) Either he is happy or he is poor. T ar T IgsT 2 a Era' Tlﬂ'ﬂ % - N %
(b) He is happy. T8 garg- |- 4, c 4 GRAGCH £
Inference : He is poor. 3T : 'a't»'ﬂ'ﬁ‘d% r"j RN i Ny :
(A) The inference is definitely true ar-'jﬂﬁ Tﬁt—m W % ,-" RS Ry .;T‘, s ‘
(B) The inference is definitely false &g qica: 3. i-2 ST e FOR ?2
(C) The inference is probably false or true SIFATI RKERE 31'\‘:1?\’1 T Ra'c'\’:r 3 eh
(D) The inference can not be drawn 3rgATT el ferer ST weT % R ”.:
71, (a) Those who are honest are good teachers. ST I%FHET'\’ Eﬁ % a‘r 3133 f%mm E?r?f %‘I
(b) Hard working people are honest FEeTelt, o AR BB L o ‘l
Inference: Hard work is the necessary quallty%of a good teacher. | " ~‘ 1
A : WETd U e ferd B Arawad T e g ol T
(A)  The inference is definitely true 3TgHTT qoteRs: e 3 e e 4
(B)  The inference is definitely false 3FAM QUi AT ® e B :
(C)  The inference is probably false of true A AHIT: G AT s g B T
(D)  The inference can not be drawn IAM e T S Wb - ..,,,y,,' ; '”jjf}
y B8 ik ’,,1
72.  Based on the following statements, which is the correct: conc!uswn drawH.
fRrefoRad BoRi IR @ SR W B faspd FideT & s 27

Only gentlemen can become mem
officers. Some of the officers have

a7 T 8| oRwiY Foe b Wed

bers of the club. Many of the memper g
been invited for dinner. DI T be g;;’fagg %Iub

%lmmﬁmmw o o

e & peen invited for dinner Ty &
(A) All the members of the club have F"-ﬁ 'ﬂm:u‘r By qﬁ

12
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. S TR ey

(B) Some of the officer

( Sa

(C) Allgentlemen are mer:.,bnot gentlemen

SD) Only gentlgemen have be:r:si:f.the club ;E: SRBTY a7ey ‘
T Vited fo dinnerm:‘ahﬁ TV 7719 3 e #
[ ¢

{i;

73. In a family there are h

i . Usbg .
!'nv;ted to a dinner. Both sons Wer:g' Wife, twq Sons ang
was at home? T$h q-ﬁ-q-m ﬁ' qﬁ[ out to play Hquant(\]No daughters. All the ladies were

s off 1 97 91 e Ao o o L O 2 gy 4 Ok retum from offce. Who
(A) Only wife was at home g qaf W @ler 18 o | BR WR H o

(B) Allladies were at home &y LT%H;N R < S (3
(C)  Only sons were at home o a:‘". W off

(D) Nobody was at home v 4x P T ;Tq 3

Sl e Gwi P Sters, Z is the motherof Y p i
which of the following stafements IS correct? - mother of Y, P is the son of Z, then
2P ZHGAEM ﬁﬁﬁﬁﬁ——rwasmwgf’* QP IIR, QiR Y7t & va wi Z

‘A) Pis matef"?'”’-‘.c!e OLA; P.A WW% (Bj PandY are sisters; PR Y 989 &
(C) Aand P are cousins; AR P ﬂ%ﬁ( HTE;% (D) None of the above;’ TR W P

L1,5. There are 5 books A, B, C, D & E placed on a table. If A is placed below E, C is
placed above D, B is placed below A and B is-placed above E, then which of the following
books touches the surface of the table? T %5 W 5 T & 7 € IR AT E & A
TG A S, C P D P HUR WM WK1 2, B I A F ) @ IiA- 2,0 HVE D HUWR I Sl

7a, " If Als the son of G, Q.and Y are sistars o i«

B, @ B TE A B T DL Pt B2 ‘Aj)
® @ B QA EE e
;76 , '_‘To decamp’ would mean: | 1 %7

(A)’ “To rémove tent (B),~~“To evict campers

(C) Todecrease pressure '~ (D)" Toleave suddenly-
?7. Which pair is wrongly matched? - .

%7\) Discreet : Separate = (B) Gamut:Whole

[C) Exacerbated:Increased =~ (D) Allude :Escape

78 Identify the cofrect pair: '

A) _Elude:Dodge ~_ (B) . Alude:Escape,
(C) ~Forbear = " - . (D)  Latter : Afterwards

#9. 'A@evil's advocate would be: - .
. ‘A) An eV|| pe;_son e ‘ _l:*t_ .“(B) A Counter argument presenter

9 Advocate of a criminal " (D) Unregistered advocate
&

i peh .
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o _ \
satish heard it from the horse’s mouth means:
" m an quthoritative source (B) From a close friend
(é; }E;gm the closest family member (D) From his boss
(
81 SatISh is Seated sljnita. B |
(A)  Besides (B) Beside (C) Clearly (D) Closest
g2. Identify the incorrect pair: i
(A) Moot :Debatable R (B) Singularly : Individually

83. ‘I haven't studied a lot lately’. Here, ‘lately' isafan - -~ . .... - L,
(A)  Adverb (B) Adjectnve = (C)  Noun (D) Prepositign

84.  Which sentence of followmg is correct?

(A)  The flowers was arranged carefully.  (B) ' - The meeting start promptly at 1100.
) Computerssavetime. -~ . (D) Lightning strike mdlscrlmlnately

.....

85.  ldentify the incorrect sentence:‘

(A)  None of the minutes Was wasted.

(B) None of the time. was wasted.

(C) Is any of the pizza left?

(D)  None of the above. FIMBRLAT Wl

........

[
\\\\\\

-------
» )

86.  Among the two statements: 3
(i) Either Satish or Sejal takes out the garbage

(i) Each of these prescriptions-have side effects. sy Hedy. '
(A)  Both are correct B (i)is correcf' ill')vl.s ‘lncorrect
(C) (i) is incorrect, (i) is correct (D) Both areincorrect.

87.  Choose the sentence that haS‘inCOrrectform of words:
(A)  When will you bring you're pictures to work?

(B) ltis your responsibility to go into details. R L TR

(C)  If you're planning to attend, do let me know | R TR e i & i
(D)  None of above. : Sl TR AT P (o o

88. | her speak on Friday mght about the advantages of orgamc gardenmg
(A)  will have heard (B) ‘would hear
(C)  would have heard . (D) will hear

.........
MR ES B A

89.  Choose an incorrect/incomplete sentence:

The children in the park, including all those an the swmgs ,
Sarita is an excellent school teacher. :

She couldn’t believe the premise of the story.

| saw Dr. Ghosh because Dr. Khan was on leave,

S’ S S
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90. What is not correct if ‘nest is to bird'? B

(A) Hangaris to ai
ircraft
(C)  Orchestra is to music ég; mg :: io rt?oney
o bees

91.  The exact opposite of ‘Lascivious’ would mean:

(A) Devoted B) C

h .

(B) aste (C) Fluid (D) Manifest
92. Repercussion’ would mean:
(A) Reaction i
(C) Recollection - : &B); gfe':,?rsrﬂgﬂ,
(92) to go out to an Italian restaurant tonight?
Do.youlike - "%+ L D iki
A : - R .3 (B) Are you liking
(C) Youlike (D) Would you like
94. ., Excuseme, ____ . - ‘_ti'me please?
(A) Youhavethe < (B) What is
(C)  Have you got the (D) What
reader. (Fill in the best fitting word)

95. He likes reading. He was a

(A)  Anxious (B) Enthusiastic  (C) Voracious (D) Fervent
96. | remember my sister taking me to the museum. R
(Choose the best fit among the alternatives)

A | remember | was taken to the museum.
B) | remember being taken to the museum by my sister. . .-
c) | remember myself being taken to the museum by my sister.-
(D) | remember ta,k_en‘tozthe»museumby my sister.
‘To make a cleari breast of 'r"né'ané: ik 25, Zo
R (B)ATo.praise'oneself R A

(D). To destroy everything .

97.

(A) To gain prominence
(C) To confess everything

“To be above board” means: L
(A) Tohavea good height (B) Tobe hones.t
(C) Tohave no debts (D) Tobe beautlfql
d means:

99.  That which cannot be correcte
(A) Unintelligible “(B) Indelible
(D) Incorrigible

(C) lilegible

,,,,,,

100. State in which t

(A) Monarchy
(C) Plutocracy

(B) Oligarchy
(D) Autocracy
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